BESH6EE LFHHRXEE (SHNTEERVUSHSEEL DLE)

XODT — R ICE D CExEEEE R

3 O

=
2,000
1,500
fiz 1,000
:r_
é; 500
0
47 58 6H 78 88 98
EEER] [COUR5  EEEER6  —e=IEHE (R6/R1)
Q) BEFHIZ
400
300
{iL 200
T 100
A
0

47 58 6H 7H 88 9R
EEmR] [R5 EEEER6 —e=IEEE (R6/R1)

6 EEHESET (Tsukica, ICOCA, PiTaPa, ftiz5ERIC)

10.0%
0.0%
/A\10.0%
/N\20.0%

/\30.0%

10.0%
0.0%
/A\10.0%
/N\20.0%

/A\30.0%

800
600 ammm
g
& 400
T 200
A
0

4A 5H 6H 7H 8H 98
EEmR1I EESURS  EEENRG  —e=liEEE (R6/R1)

10.0%
0.0%
/A\10.0%
/\20.0%

/\30.0%

= [kt + 215 25

200 sesssssssssssssssssssssssssssmssssssssssEsssssEssEssss

600
450
g
300
T 150
A
0
48 5A
B R1  EEEERS
@ BEEHZH
160
H 120
iz
.. 80
:F_
A 40
0
47 5A
mmmm R1 [EEEEIRS
® I COCA
300
~ 200
B
iz
2 100
A
0

48
EEmR1 9IRS

68 78 8A 98
EEmR6 —e=I3EFX (R6/R1)

68 78 8A 9A
mmmR6 —0=15F K (R6/R1)

68 7H 8A 9A
EEmR6 —e—1EHE (R6/R1)

&EH—8

10.0%
0.0%
/A\10.0%
/N\20.0%

/\30.0%

0.0%

/A\10.0%
/N\20.0%
/A\30.0%
/N\40.0%
/A\50.0%

30.0%

20.0%

10.0%

0.0%




